
PLAN : BALUSTRADE

30

2000 1500 30

DOUBLE

GUARDRAIL

30

2000 1500 30

DOUBLE

GUARDRAIL

BRIDGE

NUMBER PLATE

EXPANSION

JOINT

ELEVATION : BALUSTRADE

47
5

12
20

47647695395295319051905190538103810

4128  STANDARD GUARDRAIL PANEL LENGTHS
ONE EXTRA STANDARD LENGTH GUARDRAIL PANEL FIXED

TO FRONT AND REAR GUARDRAILS AS SHOWN

SHOWING POST SPACING AND GUARDRAIL ARRANGEMENT AT BOTH BRIDGE APPROACHES AND DEPARTURES.

GUARDRAIL APPROACH & DEPARTURE DETAILS

POST SPACING FOR '3810' GUARDRAILS

CLOSEST PERMISSIBLE POSITION OF CATCHPIT TO ENDBLOCK

I.E. NO CATCHPITS PERMITTED BETWEEN POST  No. 1 AND ENDBLOCK.

WOODEN POSTS ONLY SHALL BE USED FOR POSTS Nos. 1 TO 9

NO DEVIATION FROM THIS LAYOUT SHALL BE PERMITTED.

1 2 3 4 5 6 7 8 9

ENDBLOCK

470

P L A N

55
2

5

35
2

5

35
2

5

55
2

5

1
0

1
0

45 50

85
55

55
85

CLEAT SETTING OUT DIMENSIONS ARE

PROVISIONAL AND SHALL BE CONFIRMED

WITH THE ACTUAL GUARDRAIL SECTION

TO BE USED

 50

PROJ.

350

SHUTTER

TEMPORARY NUTS TO HOLD

RODS IN POSTION DURING

CONCRETING

M20 GRADE 8.8 THREADED

RODS (400mm LONG)

40
15

0

25
5

65

5

10
10

TYPICAL PLAN SECTION THROUGH END OF END BLOCK

CLEAT SETTING OUT DETAILS

REAR GUARDRAIL TO END BLOCK CONNECTION DETAILS

SECTION D-D

5

5

10x10 SQUARE BAR

34
0

17
0

345

APPROVED STAINLESS

STEEL WASHERS.

(WASHERS TO FILL GAP

BETWEEN GUARDRAILS TO

PREVENT DEFORMATION).

10x10 SQUARE

BAR

AFTER TIGHTENING,

DEFORM THREAD TO

PREVENT REMOVAL OF NUT

720x340x6mm GALVANISED MILD

STEEL PLATE

OUTER FACE

OF END BLOCK

GR. 8.8 M20 BOLT

600x100x6mm GALVANISED

MILD STEEL ANCHOR PLATE

CAST INTO CONCRETE

38x4 CHS

16017017017050

720

10x10

SQUARE BAR

25Ø HOLES

@ 170 c/c

45

600

25 Ø HOLE IN

6mm STEEL PLATE

600x100x6 GALVANISED MILD

STEEL ANCHOR PLATE CAST

INTO CONCRETE.

38x4 CHS

34
0

5
5

32
0

10
10

10
0

50
50

45

6

5

5

26
0

16
0

16
0

170 170 170

90

APPROVED STAINLESS

STEEL WASHER

±

4

5

°

*TOP OF DOUBLE

GUARDRAIL PROFILE

6mm PROFILED

END PLATE

6mm THICK END PLATE TO

FOLLOW DOUBLE GUARDRAIL

OVERALL PROFILE AND WELDED

TO BACKING PLATE AT ±45°

10x10 SQUARE BAR

6mm END

PLATE PROFILE

10x10

SQUARE BAR

5 95 10

5 95 10

12 DIA. HOLES IN BACKING

PLATE FOR HOT DIP

GALVANISING

±
9
5
*

(
C

O
S

)

EDGE OF GUARDRAIL

ANCHOR PLATE BEHIND

EDGE OF GUARDRAIL

END OF GUARDRAIL

12 DIA. HOLES FOR

HOT DIP GALVANISING

D

12 DIA. HOLES FOR HOT DIP

GALVANISING IN 85x6

COVER PLATE SUPPORT

D

BACKING PLATE DETAIL

E E

SECTION E-E

6mm BACKING

PLATE

±95x6 END PLATE

SUPPORT

D

D

ANCHOR PLATE DETAIL

FRONT GUARDRAIL TO END BLOCK CONNECTION DETAILS

30
0

23
0

65

100

35

35
35

30 70

55
95

95
55 45

50
5

45 50

100

60 40

60 40

100

ALL HOLES ARE 22mm Ø
 FOR M20 BOLT.

FIXING BOLTS AND THREADED

ANCHORS

10 END GAP TO

GUARDRAILS

         MATERIALS

END PLATE : 100x10 FLAT BAR

CLEATS : 50x10 FLAT BAR

CLEATS

END

PLATE

5

70 30

ENDBLOCK

30
END OF

ENDBLOCK5

10

10

ELEVATION A-A ELEVATION B-B PLAN C-C

C C

B

B

A

A

GUARDRAILS ARE REQUIRED IN THE FOLLOWING CASES:

WHERE WATER NEXT TO THE ROAD FORMATION IS DEEPER

THAN 1,5m.

AT ALL BRIDGES ON SIDE OF ROAD.

ON THE OUTSIDE OF CURVES WITH RADII LESS THAN

300m WITHOUT RECOVERY AREAS.

WHERE OBSTRUCTIONS ARE LESS THAN 1m FROM THE

SHOULDER BREAKPOINT.

NO GAURDRAILS WILL BE ACCEPTED THAT SHOW SIGNS OF RUST

OR OXIDATION

BOLT : HIGH TENSILE STEEL M16

WASHER : STEEL WASHER.

SPACERBLOCK : GUM OR PINE. TREATED

WITH CREOSOTE ACCORDING TO ANY METHOD IN SANS 10005.

POLE : 150mm TO 180mm GUM OR PINE

TREATED WITH CREOSOTE ACCORDING TO

ANY METHOD IN SANS 10005.

ALL GUARDRAILS SHALL BE GALVANIZED

AS SPECIFIED (NOT PAINTED).

1.1

1.

1.2

1.3

1.4

1.5

THAN WHAT A GUARDRAIL WOULD BE.

WHERE AN OBSTRUCTIONS APPEARS TO BE MORE DANGEROUS

2.

SPECIFICATIONS:3.

3.1

3.2

3.3

3.4

3.5

ALL WELDING WILL BE DONE PRIOR TO GALVANIZING.3.7

REQUIREMENTS OF SABS 763 FOR TYPE A1 OR 

BE GALVANIZED IN ACCORDANCE WITH THE 

ALL STRUCTURAL STEEL, INCLUDING TUBES, SHALL

B1 ARTICLES AS APPLICABLE (OR LATEST).

3.6

1.6

THE WARRANTS DIAGRAM WILL APPLY.

IN THE CASE OF EMBANKMENTS / FILLS,

SPECIFICATION FOR MUNICIPAL CIVIL ENGINEERING WORKS,

ALSO REFER TO SECTION 611 OF THE STANDARD 4.

3rd EDITION, 2005.

3.8 ALL EXISTING GUARDRAILS TO BE MAINTAINED AT

EXISTING HEIGHT UNLESS SPECIFIED BY ENGINEER.

NEW GUARDRAIL TO

STD013

4 OF 5

J.M. CRONJE Pr.Tech. Eng.

GUARDRAILS

S. NAIDOO Pr.Tech. Eng.

TYPICAL STANDARD

LOCATION OF PROJECT:

DESCRIPTION OF PROJECT

PROJECT No. :

ORIGINAL PAPER SIZE:

SCALE :DATE :

DRAWING NO.

SHEET NO:

REVISION

0

CONTRACT No. :

NOTES AND SPECIFICATIONS

DETAILS

NOT TO SCALE A1

BRIDGE CONNECTIONS

21 October 2020

LOCATION OF PROJECT:LOCATION OF PROJECT:

S. AUDIE

DESIGN CHECKED BY

NR. DATE

DESCRIPTION PAR.

AMENDMENTS

APPROVED

SIGNATURE:.........................................................................  DATE:....................................

DESIGNED

MANAGEMENT

D.J. CHALMERS

DRAWN

INFRASTRUCTURE TECHNICAL INFORMATION

SIGNATURE:.........................................................................  DATE:.................................... SIGNATURE:.........................................................................  DATE:....................................

DRAWING APPROVED BY GROUP HEAD

SIGNATURE:.............................................................................                              DATE:......................................................

CITY OF TSHWANE

0001

P.O. BOX 1409

PRETORIA

DIVISIONAL HEAD

ROADS AND TRANSPORT DEPARTMENT

0001

P.O. BOX 1409

PRETORIA

GROUP HEAD

Mr Marven K Tlhagale 
Mr Letlonkane P. (Pheko)

SIGNATURE:.....................................................

DIVISIONAL HEAD

TRANSPORT INFRASTRUCTURE 

DESIGN AND CONSTRUCTION

Mr K Tlhagale (Marven )

DATE:.................................................................

Mr Letlonkane P. (Pheko)

DRAWING RECOMMENDED BY DIVISIONAL HEADS

SIGNATURE:.....................................................

DIVISIONAL HEAD

TRANSPORTATION PLANNING

Mr   L. Swanepoel (Lourens )

DATE:.................................................................


	Sheets and Views
	STD0013_sh4of5-Layout1


